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Bo% EABHAHY

AR THWEEKSFE E R , FIERER o WK H I % R8
(2= 5ot .

(a)NH} (dHSO;
(b)HC1 (e)NaCN
(c)H, SO, (f) CH,NH,
AEXF2A-28
(QNH; - NH, téig
(WHC!1 - & Cl téim
(©)H,SO, - ®& HS O] #: itk
@HSO, - & SO!™ Jiem
HSO, - #& " H,SO, - jtE
(e)NaCN - i@ HCN - %
(f)CH,NH, - # CH,NH; - Jtig%
R THHEE RS , FIEEBRERS -  ERH{EHNRZ
175V _
(@HCN (d)H,PO;
(b)H,PO, (€) C ¢H s NH}
(c)Na,PO, (FHOCI
REzA.- 28
(@HCN - B . CN™ - i
(b) H; PO, - B H,PO, -t
() PO - @4 HP O™ - JtWEHt
(d H,PO{ -8 HPO{™ - }tm
H,PO; - # H,PO, - t8
() CsH,NH; - B CeH;NH, - tim
(f) HOCI - j _ OCl~ - &
BHTHmaAN s ARETFRE > Bk RiETEROE R ® °
*@H,S0, *c)Z 8, C,H;OH
(b)—BeZ% , NH,CH;CH,NH, (d)H,S
RE2A-28

(@2H,50, =2H,SO; + HSO; -
/] ]
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*2-8

(b)2 NH, CH,CH,NH, = NH, CH, CH,NH{ + NH, CH,CH ,NH"
A ‘ - ] "
(¢)2C,H;OH=C,H,OH} + C,H, 0"
.7} ]
(@2H,S=H,S* + HS"~
. ¥ ]
25HEHBFAEBLETFH?
REEE2B- 1/

BFH=2.5mol EF x 6.02 x 10”% = 1.50 x 10*

£ 0.150mmol 2K ,Fe (CN ) BBbEEL VBT
HBKE2B-1H

#MTE=0.150 x 10*>mol Z k,Fe(CN), x 4mol K"

mol K,Fe( CN),

’x 6.02 x 10°*K*
mol K+

TEHHBAESPERT?
@6.75g ZA1,0, ?
(b)232mg ZNa,SO, ?7
©) 250ml Z 0.264M Na,B,O, * 10H,0 ?
@2.50L Z22.00 x 10" *MK,Cr,0, ?
©100mL 2 KkBKAEH 3.72ppm HCI ?
RREE2BE

@mmol A1,0, = 6.75¢g Al,0, x

=3-.61 x 10**

1 mmol Al,O, _
0.10196g A1, 0, _ 202
1mmol Na,SO, _ 1.63
142. Omg Na,S0, V"

(b)mmol Na,SO, = 232 nmg Na,SO, x

()mmol Ng,B,0, + 10H,0
0.264 mmol Na,B,0, - 10H,0

""—"250mL"x = 66-0
: . R mL
(dmmol K,Cr,0, = 2.50L x 2-00x 1()—Lmol K,Cr,0,
3
o 10 mmol ~ 0.500 )

mol

©ppmHCI = 3.72mg HCl /L &
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R EAMEAE 3

_3.72mgHC1 1 mmol HCI 10°°*L

mmol HCI = T X 36.46mg X oy x 100mL
= 1.02 x 1072 '
TEHWEEESVERE ?

(@ 18.3mg 7 P,0; ?

(b) 20.3g 2k ( CO, ) ?
(©)50.0 g ZMgNH, PO, ?

{@63.4mL 2 9.86 M bRE ?
©60.0L 2 0.0125M KMnO, ?
RRXEBI2BH

1 mmol P,O;

@mmol P,0, = 18.3mg X 141.9mg P,O: =0.129
: 1 mmolCO,

b, 1 = . —_—

(b)mmol CO, = 20 3gC0,x0.0440lg 461

. . 1 mmol MgNH, PO
() 1 MgNH, PO, = . . s
mmo gNH, PO, = 50.0gMgNH, PO, X 0.1373 gMg NH. PO,

= 364

9. 86 mmol H,SO.

(dmmo! H,SO, = 63.4mL x o = 625
(€©)mmol KMnO, = 60.0L x 10°mL  0.0125mmol KMnO,
L mL
=750
TEHHHEESHEZLER?

(@ 0.160mol Z CHCl, ?

(b)120mmo! Z#&:% ( CH,COOH ) ?
€)16.0mol ZHNO, ? ‘ _
d5.5mL 2 0.50MBEERE ( fv=2342) ?
(€)20.7L 2 3.0 MH,PO, ?

REX S 2BE

3
(@)mg CHCI, = 0.160mol CHC1, x 119-48CHCI,  10'mg

mol CHCl, g
=1.91 x10*
(b)mg HA= 120mmol HA x MZ 7.21 x10°
mmol HA .
) v .
(©mg HNO, = 16.0mol HNO, x 27-018 HNO,  10'mg
mol £

=7.52 x 10*
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(dmg X = 5.5mL x 0.50mmol X 342mg X

mL X mmol X =9-4x10
2.0mol H,PO 82.0g H,PO
H PO - . L 3 3 3 3
(€)mg H, » =20.7L x L x mol H,PO,

3

X 10" mg =5.1 x 10¢

2-9 TRYHHEEELIR?
(@2.64mol Z CaS0O, ?
22.1mmol Z 1, ?
(€©)450mL 2 0.250 M PR ( CH,O0H ) ¢
@6.50L Z 0.0110MBa (OH), ?
©6.10mL 2 2.00 x'10~“M NaNO, ?

b RBEAH2BE
136.1g CaSO,

@ g CaSO, = 2.64 mol CaSO, x mol CaSO, = 359
(b)Ag 1, =22.1mmol 1, X_Q._gs__%_giz 5.61
mmol I,
(©g CH,0H = 450mL x 0’250‘“2‘1’} CH,OH
0.03204¢g CH,0H __
mmol CH,0H 360
(dg Ba(OH), = 6.50L x 0'0”0“‘51 Ba (OH),
171 .4g Ba(OH), _
mol Ba (OH). 12.3
4 1
© g NaNO, = 6.10mL x -2 OOX lom:‘m NaNO,
0-08499¢ NaNO, ]
X —hmol NaNO, 1-04x 107
*2-10 ,Km&mzmxngZFe,(so.) BRHHCIS , ¥HR 2.00L -
itE
@Fe, (SO,), Zﬁﬂiﬁ'tﬁﬁﬁ °
WFe’* ZREPRRE.

©SO* ZHEFRHRE (EERAHSOT )
d)Fe,(S0,), 2EHE- 8% Eﬁ$ °
@FE25.0mL B #ih Fe'* ZZERE N,
(Efb Fe** 2EMIN .



-1

Ao EABLWE 5

@%b 2 pFe( IIT) o
(hWE# b > pSO, o
B@AM2-1, 2-2%2-3 (P.11 ) .

B 107*g _ 1mol Fe, (S0,),
@Mriop, =273 mE X *399.9g Fe, (S0, ),

- x@jéTL—:&nuxlo_—‘mL“
se
= 6.82 x 10-4,“‘_"]£P“’_ |
.
= 1.02 x 10—=2¥9:_
@%Fe, (SO, )s (W/V) = 0'27230%5;1( 50.): 4 100
=1.36 x 10°*
— s+
(e)mmol Fe = 25.0mL x 6'82, X l(r)nL mmol Fe
=1.70 x 10~
(f)ppm Fe” :mgie“: 6.82 x 10-L‘ mol Fe'"
3 s+
55 85;011(;:13 Fe'* _ = 581

R#F£EH2-4, 2-5(P.12)
®pFe (Il ) =— log( Fe®**) =— log6.82 x 107*
=~ log 6.82 — log 107*
=—0.834 - (—4)=3.166 _
(h)pSO, =~ log 1.02 x 107 =—log 1.02 — log 1072 .,
=—0.0086 - (—3)=2.991 e
ABHH432mg 2K, Fe (CN) ¢ BRAFMHRE 1500mL 3t
E ‘ nioooe
a)K,Fe (CN )¢ ZEE ST RE
(b)K ZEETRRE o
©)K,Fe( CN ), Zii—ﬂﬁ§ﬁ$o
@Fe (CN){" 2RHERE .
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©F 100.0mML BB K MERETE K-
OEBEPK 2EE Yo

BB pK o

(B’ Z pFe (CN)¢ o

m‘ (a)Mx‘r.(c-N)u =: 432mg X

1 o
X T = 7-84 %107 M

mol K,Fe (CN), 9 4mol K*
L mol K,Fe (CN ),

107 g X lmmol K,Fe(CN),
Img 368 .36 gK,Fe (CN),

Mt = 7.84x 1071

=3.13x10*M
0.432 gK,Fe (CN),
C)Y, = .
©)%K,Fe(CN), 1500 mL x 100 »
=0.0288 %K, Fe (CN)s (W/V
mot K, Fe (CN ),
L

‘DMreccnré” =7.84 x 1071

. 1 mol Fe ( CN);*
mol K,Fe (CN),
3.13 x 10" * mmol K*
1 mL
=3.13 x 107" mmol K* /100 mL
mgK* 3.13 x10 *mol K* y 39x10°mgK+*
L L lmol K*
=122 ppm
@pK=—1log [ K*J=—1log 3.13 x 107* = 2.504
) pFe (CN)s =— log( Fe (CN)5*) =— log7.84 x 10~ *
=3.107 '
*2-12 BAFEHBER1.27 x 10°ppmzMg*t B 400 ppm 2z Ca*t o 3t H
‘(B)DHE?E?KZEEEI.OZE/H!L , RREEMTFoIRERERE
(bW BE > pMg B pCa ,
REXKM2-4 (P.12).
e~ 1.27 x 10°gMg?* 1.02 x 10°gH,0
@( Mg™ ) =55 H.0 ‘ x L
1mol Mg?* —,
X_—_——-—24-31gMg“ =5.33x 10

=7.84x107'M

@©mmolK* =100m¢ x

(flppmK* =




Bk ALERINT 7

e o _ 400 1
(Ca™ J=70s 20.08
(b)pMg =—log (Mg** ) = — log 5.33 x 10*
=—10g5.33—1log 1072 =—0.727—-(—2 ) = 1.273
pCa=—1log1.02x10"*=1.991
2-13 AR MEF#H% 100 mL 44360 mg Na** B 21 mg SO}~
@t EERYE CRERE &%) ?
(b3 ¥ 2 pNa & pSO, °
M REEAM2-4 (p.12)
360mg » 1 mmol Na*

x1.02 x10® x =1.02 x 10°*

R .

@( Na _) 100mL " 22.99mg Na* = 0157
iy 2l 1 L

(b)pNa = — log 1.57 x 10‘l =—log1.57 —log 107?

=—0.196—- (-1 )= 0.804
pSO, = —1log2.19 x 107* = 2.660
2-14 HETABRSFIETETFZpM :
@7 0.115M 2 Na, SO, % 0.210M2 NaOH g & Na* ~
SO0,*” ~ROH ",
(e 1.40x 107 *M 2 BaCl, & 1.60 x 10"M2MnCl 3.4
fE&Ba*t ~Mn** ~ R Cl™ o
*(COFE2.00M2ZHC1 K 0.350M2 ZnCl, m&*ﬁa O*~Ct-
R Zn't o .
A7 0.150MZ Cu(NO,), X% 0.360M > Zn ( NO,), ¥Hh
E&Cu®t~Zn* “ENO, o
*©7%6.04 x10°‘MZ2Ba (ClO, ), 2 1.76 x 10" *MZHCIO,
Kb 4H,0* ~ Ba** ~ R C10,"
(BFE2.-75 x107* M2 K,Fe (CN)¢ & 4.64 x 10" *MZ KOH
BRPEK ~OH™ ~ R Fe(CH),* o
% RRBEM2-4( p-12)
@( Na**) =2 x0.115+ 0.210 = 0. 440
(S0, }3}=10.115; (OH"3J=0.210
pNa = — 10g4.40 x 107" =— log4.40 — log 107
=—0.643 + 1 = 0.357
PSSO, =~ 10g0.115 = 0.94
pOH =~ log 0.210 = 0.678
(b)( Ba** )=1.40x 107* ; (Mn?**) =1.60x10"?
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(C1")31=2(1.40x 107* +16.0x 107*)=3.48 x 10"*
pBa=—1log 1.40 x 107* =— log 1.40 — log 10 *
=—0.146 + 4 = 3.854
‘pMn = —log 1.60 x 107% =2.796
pCl = — jog 3.48 x 107? =2.458
©C(H*"}=2.00; (CI") =2.00+ 2 x 0.350 =2.70
{Zn** ) =0.350
pH=—1log 2.00 =— 0.301 ; pCl = - 10g 2.70
=—0.431
pZn = —log 3.50 % 107" =— 0.544 + | = 0.456
{dpCu =— log 0.15 = 0.824
PZn =— log 0.36 = 0.444
pNO;™ = —1og (0.15X 2+ 0.36 x 2 )= — 0.009
@pH=— log 1.76 x 10™° = 4.754
pBa = —10g 6.04 x 107* = 3.219

pClO, = — log (2x6.04 x 107* +1.76 x 1073 )
=2.912 '
PpK=—log (4 x2.75x107* +4.64 x 107° )= 4.24]
pOH= —~1l0og4.64 x 10°° =4.333
PFe(CN)¢ = — log 2.75 x 107* = 5.561 ,
2-15 HEBRFEAKCARTIHERE , NE K pHERS"
*@)11.97 : e 4.44
(b} 1.63 (£)9.76
") 7.62 *®~— 0.96
- ) 10.16 (h— 0.271

W REXM2-5(P.12) . L
@pH=-log( H" J = 11.97 ' :
log(H*) =—11.97 =—12 +0.03
( H* ) = antilog ( —12 ) x antilog 0.03
=107 x 1.072=1.1 x 107*M
M log(H* ) =—-1.63=—2+ 0.37
(H" )= antilog (—2) x antilog 0.37
= 107* x 2.344 = 2.3 x10°*M
©CH* ) = antilog ( —8 ) x antilog 0.38 = 2.4 x 10~* M
@(H*) = antilog (—11 ) x antilog 0.84 = 6.9 x 10" "' M
©(H*) = antilog (—4 ) x antilog 0.56 = 3.6 x 10"*M
(M{H* )} =antilog (= 10) xantilog 0.24 = 1.7x 10" M
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*2-18

=

*2-20

F_B EABSEE 9

®pH=—log( H* ] =— 0.96

log(H* ) = 0.96 ,

(H*) = antilog0.96 =9.12 =9:1
(b) (H* ] = antiléog 0.271 = 1.86=1.9
ABEE9-00%(w/ w)HER1.07 25K YD , K,50, 2HE
SHBERK CREFHRE -
1.07¢ 5%  9-.00g K,S0, 1 mmol K,SO,

Mescon = = T%® * To0g soln  ~ 0.1743gK, SO,
- 0. 552mmol K, S0,
mL
Mgt = 2 XA’[K:SO. = 2 x (0.552 :l‘-—‘l—()%:"mfgl—lg
HEES20%(w/w) WES1.19 25kH , Na,S0 2 EF 4
FRERNa* 2 EEFERE -
M _1.19¢ i”é‘?&x 20.0gNa,SO,  1mmol Na,SO,
Im¢ B¥ ~ 100g &%  0.142 gNa,SO,
‘mmol Na,SO'.
=1.68§ ——M—*
mL
+
Muit = 2 xMussoo. =2 % 1.68M = 3.35-‘5'-‘—“51'1—5“9—
RUMARE TEABK ‘

@500mL26.0%(w/ v)Z KEXKEK.
15002 26.-0%(w/w) L BKEE .
©)500mLZ6.0% (v /v )Z_BABK.
(@ 30g Z W& RAkPEREBES500mL
(BYHR 30g Z /G ¥ 1* 470 g Z K

©)f 30mL Z 8B R K+ BHEE 500 mL
RPWFIAEY TEHNEHE
@20.0L224.0%(w /v )BEKER-
0)20-0kg 2 24.0% (w/w) BEKER
©)20.0L224.0%( v /v YPREKGE-
(@)X 48008 ZF BB R K HRBE20 7 -
(bR 4.8 kg BEBR 15.2 kg ZHh
OB 4.8 FHZ2PEBR K EREST 207
RPOFIENTEHOE R

@6.00L 2 0.0215M1, 7= CH,OH 2 %% °
()HMK,SO, #8600 mL 2 0.0850 MK* o



0 B AMEAREER

©®1.25MZIEHHEN 600mL 2 0.200 MK,Cr,0; o
e 1.25M2 AgNO, BEKE N 600 mL 2 5.00% (w/v ) AgNO,

o

(€)% 5.00 ppm LW %% 6.00 L f#i BaCl, - 2H,08H .
¥ @wt1,=6.00Lx 0021520 12, 23:82 L _ 5,

mol
$§?32-781. RCH,OHEHRZ6.00L ,
Ay 0.0850 mmol K* 1 mmol K,SO,
bwt K,S0, = 600mL x ~ X Smmol K¥
0.1743gK,S0,
"ol K,SO, =4.44¢e

o 1 K Cr 0 1 mL seln
(c) ol = GOOmL x MmO 2atlsth
v o. 209 mL * 1. 25mmol K, Cr 0,
= 96./0mL -

W 960 HLEY 1. 25Msim#¥u 600mL
_ 5.00g AgNO, 1 mmol AgNO,
{dvol = 600mL x T00mL - X 0.1699g AgNO,
1mL AgNO,

1

1.25mmotl AgNO, =141 mL
ﬁ 141mL HEKH R 600mL
5mgCl 1 mmot C1°
, " 1 mmol BaCl, - 2H s}
‘ 2mmol Ci
0 2443gBaCl, ZH,O: 0.103 g
mmol

BM0.103gm BaCl, - 2H,ORK+EREG6.00L .
2-21 REMFIRE THEAERK _ N
(@) M8 ( NH, ),C,0, » H,OR #750mL 4 0.200M ( NH,),C,0,
/S 2BE .
- (b E EK, Fe(CN) E¥M1.67L& 0.115MK* 2B ¥# - |
(©f 0.330M27 3EEBEHA M 250mL 4 0.200MBaCl, 2% -
@ 0.137MK, Cr,0, B HA M 250mL 4 0.200% (w/ v )
K,Cr,0, Z#¥#& o
©/2.00 x 10-*M(NH,),SO, gwﬁﬂz 00L& 2. 5ppm
NH, *! zzmo



e

"2-12

b

HoR EAMSUAW 1!

BRE2-20 2/
@wt (NH, ),C,0, / 750mL ¥ =750 x 0. 200 x 0. 1421
=21.3g
bwt K, Fe(CN) /1.67L AW = 1.67 x 0.115 x '329. 3/3
7 £21.1g
(€) vol 0.330MMBH# / 250mL ¥ = 250 x 0.200/.0.330
= 152nL
@) vol 0.137 M¥H /250mL MW = 250 x 0. m 1
1007 2499
1 .
X g7 - A4l
_14 6L ’
< 2.5mgNH,* o himmol NH?
(¢) vl ( NH, ), S0, =g xzni 18 M mg NAF
1mmol ( NHy ), SO,
2mmol: NH, +

ImL ( NH,) ,50, o
2.00 X 10" mmal 92" 3“3‘1*
Hi 69. 3mLB’J( NH,),SO, i W83 2.00L -
RUmAIEN THE®RE |
(avhEMER N 1.50L 4 0. 165MK.Cr,0 m;.,
(b E AEAM 50. 0L 2 0.100MKC1 %k -
©)h 0.176MZ2Zn (NO, ), BRESS00mLE1.00%(w/v)
Zn(NO,), ¥~ :
(d)eh 0. 137Mzamr. m&mu 20. OLg 0.0113MZK* B8 o
R4 2-20 20?
@wt K,Cr,0, /1 SO0L M = 1.50 x QikH5:x 294.2:=7-8g
R 72.8 BK &£r,0, BN KPEEME 158 . |
LwtKC1 /50.0L = 50.9 x: Q.:100-% 74.6:= 311»3&.;(.
373 gKI BRATPEHRRABSOHA -
vol 0.175M; Zn(NO,),

O 500mL BE = 600 355 mo '6“"1’&3"“" 0 175
> #2151 mL
RASmLZ0.175MZn (NO, 9 RAE0. 5 7
vol 0.317M AlBr, | 11

(d) =20.0 x 0.0113 x

50.0 L 37°0.317
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2-23

.

*1-24

1-15

i

= 0.238L & 238 mL
B 238mL 2z 0.317 MAIBr, BIRHEZE 207
AP ES T B R v
@HFEEK,Cr,0, i 2.00L 4 0.150 MK, Cr, O, BX o
bBEEEK,Cr,0, BB 500mL & 0.175MK" B °
{(¢)fh 0.700M K,Fe (CN)( BZHAW500mL 5 0. 0300MK* B #&
@i 1.04M 7 BaCl, « 2H, OB RS 500 mL & 0. 0400M
BaCl, B~
REB2-20 2% ‘ ‘
@wt K,Cr,0, /2.00L =2.00 x 0.150 x 294.2 = 88.3¢
bwt K,Cr,0, /500mL =500 x 0.175 x 0.2942/2=129¢g
© vol 0.7ZMK,Fe( CN), /500mL BE
=500 x 0.0300/(4x0.700) =5.36mL
{d)vol 1.04M BaCl, « 2H,0/500mL A% =500 x 0.0400 /
1.04 =19.2 mL
BHNO, ZHER 1.42 , 8HNO, 69% (w/w) ©
@7 1.40L tRBPE %4 W HNO, 7
LRBMALRABENG6.00 L50.15 MHNO,BEK ?
ARAM2-7 (P.14) ‘
(8) g HNO, = 1.40L x 10° ’“LL X 1'4215’5*& X 1%%?1’:&
=1.37 x 10? -

(b)mL W HNO, = 6.00L x 0. 15m

1mL » 1008%?&
“1 43¢ B® 69gHNO,
E&ssmLe'JmHNo.m&ﬁﬁﬁﬁj 6.0L o
WHCY ZHER1.185 , 8HCI 36.5% (w/w)e
(@#E 4.50L (kR B+, ﬁé@%ﬂﬂcx 88 (ZESTPREAE ) ?
ORBMEAHRAFEN 1.0LH 0.050MHCI R ?
RBEAMA2-7T RME2-240b
1.185¢ BE

(a)mL.HCl‘ (2) =4.50 X 10°mL B¥ X— AR

36.5gHClx 1 mol HC1 x 22.4LHCI
100g B# ~ 36.43gHC1  mol HCI
=1.20x 10°L '

ol 63.01¢gHNO,

‘mol

=57.9




